DIRECTORATE OF SCHOOL EDUCATION
TAMILNADU

12NPCBO7 | NEET PRACTICE QUESTIONS
(2023-24) (TEST-7)

Class : XII
Time: 1.15 hrs
Total Marks: 240

General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.
2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15 Ldlearg,@L R.&G?')I_u_l 5]'66)6UU_IITGGI' SUEDETLIS SiL 63T
@6M60OTHSLILIL L. HMHS LITWLOMeTS CHI&Hensd

1. A solenoid has 2000 turns wound over a length | QumMgs eTeu@mOmm  WLTMID  P=at(T-t).
of 0.3 m. Its cross sectional area is 1.2 x 10° m?. | obs CHISH eUM6TWSEHO 2 ([HEUTSLWD
Around its central section of coil of 300 turns is | QeSS S6Te| (F@erler LSl6T SHT6voTL 60
wound. If an initial current of 2 A flowing in the | HUD&&&E&EULLSSESS))

solenoid is reversed in 0.25 s. The emf induced in

the solenoid will be
A)24x104V B)24x102%V
C)48x 10V D)4.8x 10*V

03 S Herwoetemr euflFHE@HeT  epedTM 2000 | 3
FOHMIGHDET Q&HTT(H6TETSl.  HET SMEHS
Qaul (Ll ugly 12x10°m2 @S, ISH60T
LWL UGHemwEF s&mml 300 SMHMISHET
FHMLILL (H6Terg. aurflg & (meit auLSlulmas
Qevald 2 A WeTCeormLLLD, 0.25 efleormiguilev
qHT Hemsullev HOUUILGSMSE  6Teflev
afleg@erfledt  gmevor_ Ll L leoTenf W& &
allems

A)24x 104V B)2.4x 102V

C)48x 1072V D)4.8x 10V

2. Magnetic flux linked with a stationary loop of
resistance R varies with respect to time during the
time period T varies as follows @=at(T-t). The
amount of heat generated in the loop during that
time (inductance of the coil is negligible)

aT a2T2
A 3R B) 3R
a2T2 aZTS
©) R D) “5r

. Shown in the figure is a circular loop of radius

r and resistance R. A variable magnetic field of
induction B = B ¢ is established inside the coil.
If the key (K) is closed, the electrical power
developed right after closing the switch is equal to

Binr’ Binr’
A) Bir B) Bix

B 7Rt smirt
©) ok D) R

LULSH 6L ST LU BH6TET Ul L 616M6ITUI 8 H) 60T
QLI r MmMID WleTHemL R. &@Herfler 2 6TCerT
DTMH&ESIQUl  STHSLILIV STevorL 6y B =Bge

A) aT B) a’T? Bloeliul’ Betengl.  Fmafl K el Ll Lmey
3R 3R Flllem& elqul 2 | GeoT 2 (HheumsaLILL L Loleor
ALMMEV 67HMEGS FLODMTE @) (H&GSLD.
a’T* 2’T*
O ") D) R
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4. Two solenoids of equal numbers of turns have
their lengths and the radii in the same ratio. The
ratio of their self-inductance will be

A)l:2 B)2:1

Ol1:1 D)1:4

FLD eTevoTeoui &6 U6y &M mIss 66T 685 meorL
@ reoor(h eurflEa (Herfledr HETD LDMMID QLT IS 6T
RCT NHHEHH 2 6TeTer. 6me6Us6rler & 6or

LSl 60T HImevoT L6V & 6rTl6tT & G510
A)l:2 B)2:1
O1:1 D)1:4

5. A 800 turns coil of effective area 0.05 m? is kept
perpendicular to a magnetic field 5 x 10> T. when
the plane of the coil is rotated by 90° around any
of'its coplanar axis in 0.1 s, the emf induced in the
coil will be
A2V B)02V (0)2x103V.  D)0.02V

005 m?2 UFUL 800 &FMMISGEHLD G &TeoorL

SOF&@meT &MHSL Levld 5x10°5T &

QEFRIGSSMSH MaG&SLILOR M. &SU&F

Fmerfledt SeTinmeotal 0.1 ellermiquiley 3JSeT

H6T FF L 90° FLpmMmIh GLIMG SmevorL_LiLI(HLD

L eoTenfl W& & ellem & ull6tT 26y
A2V B)02V (0)2x10°V D)0.02V

6. The magnetic potential energy stored in certain
inductor is 25 mJ, when the current in the inductor

1s 60 mA. This inductor of inductance
A)0.138 H B) 138.88 H

C) 13.89 H D) 1.389 H
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6T Smevoriquiley LOTGEOTITLLID 60 MA 218
@ (H& G CUMSI Ll esTamevor 19Ul 6L GF LA & & LILI(H LD
&MHS Blemev 2pMmev 25 m) ereoflev @bs LleoT
Smevor 19U 60T Simevor L6V DG LIL

A)0.138 H B) 138.88 H

C) 13.89 H D) 1.389 H

7. A long solenoid has 1000 turns, when a current
of 4 A flown through it, the magnetic flux linked
with each turn of the solenoid is 4 x 107* wb. The
self-inductance of the solenoid is

A)4H B)3 H
C)2H D)1 H
@@  HeorL euflg  &@efler  SmHmisserfleor
eTeuoTeo0r1G608  1000. 96t  auflwime:s 4 A
WeTCeormi_lld ~ UmW  CUTE  Q6UQEIT(H

GOMled @eeure&LILL L &SMHSL LMWL

4x103wb  eefled  SDUF  S@efledr  FHeor
LSl 63T ST600T L_6V

A)4H B)3H

C)2H D)1H

8. A conductive circular loop is placed in a uniform
magnetic field, B=0.025 T, with its plane
perpendicular to the loop. The radius of the loop is
made to shrink at a constant rate of 1 mms~'. The
induced emf when the radius is 2 cm is

A)2nn V B)nu V

C) Z-uv D) 2uV

Frmeor SMHSLIL VD B=0.025T Q&Me0oTL. @@
ALl et &LEH &MHE SHMSHMGS
QEFRIGHSTEH almeTWEHFHer <prm 1 Wl
afleormiy"  etedTm  Blemevwimesr B E5H 6V
FOHBIGLUY QFUWLLGSRMS. 2 Q&5 9Tl
@Q@EGIL CGuUMs SmevorL UL L Werenllwe S
allen & Wi meorg!

A)2nn V B)np V

C) T uv D)2uV



9. Force acting on a particle moving in a straight
line varies with the velocities of the particle as F
= K/v. Where K is constant. The work done by
this force in time t is

A) B
v
B) Kt

C) 2Kt

D) 2§

CBICHTL (D Limen g uilev 58 ([HLD & (H
Qum@erfledr 158 QFWLLIRLWD  ellemnd W mers)
IHS QUMBETlear HensFCasHESamsE GLIMTMISSI
F= K/v nmoiu®SHma. @i K ererLig omniled.
t BTV @b alleFuwmy QauiwiulL
Geuemev

A) Kt
) 52
B) Kt
C) 2Kt
2K

D) V2

10. A body is initially at rest. It undergoes one —
dimensional motion with constant acceleration.
The power delivered to it at time t is proportional
to

A)t B) t C) t¥? D) t'?

QBMLESHSFHV @@ QLIMTIHET 6ule] Mmlemevuiey

o aTengl. ErmeT WHSHHSH HS QUITHET

@@ Uflinmer QUSHESHSHMEG 2 L LGSBImSI. t

HTVHHO bF CQUTHEBHSGSG 6UPHIGLILGILD

ST THMES CHISSH66L @BSHGLD

A)t B) t?

C) t3/2 D) t1/2

11. A body of mass 4 Kg is moving with momentum
of 8 kgms™. A force of 0.2 N acts on it in the
direction of motion of the body for 10 s. The
increase in kinetic energy is

A)10] B)8.51J

C)45] D)4J

4 Kg BlemmU|6TeT 62(h QILIMH6T 8 kgm™ 2 555 5 6L
&M M. 0.2 N ellen & WIMTeTS & @ LIMHerfleor
5g  QUT@BET BEHEGLL Heangule 10s-5G
QEWLIHH M 6Tevfleh @UIHE QMM 2 W6

A)10]J B)8&8.51J

0)45] D)4J

12. A force F acting on an object varies with distance
x as shown in the figure. The work done by the
force in moving the object from x=0 and x=20

m is
A
100
é 75+ :
= 50t :
25T :
O 1 1 )
5 10 15 20
X(inm) —3p
A) 10007] B) 2000 J
C)5001J D) 15001J

QUMBET etTMleT 158 QFWOLLMHLD Nlens F I ersl
QBTEMEVE] X 83 QUITHSH S LIL &G 6T &ITLIQ.U|6TeTeumm
WIDLOS MG x=0 N6 BB S x=20 L5-5EG GLITIHN6T
BHJEHS G & UIWLILIL GalevoTlq Ul G6l6t6VUTETS

' >
5 10 15 20

X(inm) —3p
A) 1000 J B) 2000 J
C) 500J D) 1500

13. Water is flowing in a river at 2 ms™'. The river is
50 m wide and has an average depth of 5 m. The
power available from the current in the river is
(density of water = 1000 kgm)

A) 1 MW
B) 2 MW
C) 1.5 MW

D) 0.5 MW

B&H eeTmlev 2 ms' eTedTm o6emellel & 6voT600t
UTWUSmE. @bs BH  50m S&Heu(pld
Frreflumg 5m QWM Q& TeooTLSl. HHulleor
BCITLEHermed R &G Hmesr  (Hrfleor
SILTSS - 1000 kgm3)
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A) 1 MW
B) 2 MW
C) 1.5 MW

D) 0.5 MW

14. The sun radiates energy at the rate of 3.77 x 10%*
Js7!. The loss of mass it suffers per second is

A)41.9x 10° kg B) 1.29x 10" kg

C)419x10%¢g D) 1.29x 10" g
Gflwer  377x10% s eareorm  NFRFHHH 6L
LMHMemeL Q&MTHI&HR M 6Tevflev 62 (H el 6oTTIq U6V
gOUGLD SbOMEV GLoLiL]

A)41.9x 10°kg B) 1.29 x 10" kg

C)419x10%g D) 1.29x 10 g

15. Two bodies of masses 4 kg and 5 kg are moving
with equal momentum. Then the ratio of their
respective kinetic energies is

A)4:5 B)1:2

C)5:4 D)2:1

4 kg LDMMID 5 kg BlemmueTem @aH GILIMIH6ITE: 6T
FID 2 [6HSHSIL60T BSHIHSHTMET 6Teuilel 860

@W&Es Mmmedler & sLD.
A)4:5 B)1:2
C)5:4 D)2:1

| CHEMISTRY Q.No. 16 to 30 |

16. Which of the following graph represents
adsorption (where x-amt of gas taken, m- mass
of solid, p — gas pressure)

Vaml
x/m
P—
B) 1
x/m
P —
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C) x/m

Iﬁ 1’7

. T
) x/m
G LD G G 600TL QUEm T LIL MBS 6rflev 6TSl
W]y JNHT:S SHaUJFF WIS GSMEH M. (x

T &SIGQS&METETLILL L eumuwjelledr o6ma), m
He0oT LD SHN6IT BleOM, p - QUMW SRS SLD)

v
D) x/m

P—

17. The volume of gases H,, CH, CO, and NH,
adsorbed by 1 g of charcoal at 288K are in the
order of

A) CO,>NH, > H, > CH,
B) NH, > CO, > CH, > H,
C) CO,>NH, >CH, > H,

D) CH, > CO, > NH, > H,



H, CH, CO, ommitb NH, GumeTmenel 1g &iflufley
288k QauLliLplemevudlev LITLILG SeuFliLBHSHms!.
QUMW S S 6rfleiT S60T 266 aUflendFenl eT(pss

A)CO,>NH, >H, > CH,

B) NH, > CO, > CH, > H,

C) CO,>NH,>CH,>H,

D) CH,>CO,>NH, > H,

18. The amount of gas adsorbed physically on
charcoal

A) Increases with pressure and decreases with
temperature

B) Increases with temperature and decreases with
pressure

C) Increases with temperature and pressure

D) Increases either temperature or pressure

siflufler 15g QMW wemmLILIG LTS
ST eumu]edesr mlemnm

A 955D 355G ICLMSID, QeUlILbBlen6v
G6emmUuLh GUIMGILD

B) Q6w LlLIBlemevU|L6oT 2 VBHRMS,
SAWSHHIIL 6T GODH DS

CO) Qauliumlemey  WMHMID (PS55I 60T
28 sf&H D

D) QeauLiLBlemev
2 WGHHDS!

SVVE (DS SHSHSIL 60T

19. Adsorption of gases on solid surface is generally
exothermic because

A) Enthalpy is positive
B) Entropy decreases
C) Entropy increases

D) Free energy increases

FlevorlDGHeoT  UFLILIeL  eumuwy  SeuyluU@lLDd
B& L& QUITHIAITS QeullULD o 10lLp
aflemeoTWIM@LD. 67 Gl6oTenfl6L

A) eT6tT5 MVl GBITE& ML emL WIS

B) etedoTL_C L Gemnm & ms!

Q) et Gy H & flEHMma

D) &L.196060IT 24 MHMEL UF & &EH DS

20. A plot of log x/m vs log P for the adsorption of
a gas on a solid gives a straight line with slope

equal to

A) I/n B) log k

C) —logk D)n
FlevorlnGHeoT  Gev  UFLL  Seuglu@®Ld
muelm@ log x/m WOMILD log p @TEITYNHS
QenLGu QUEMTLIL LD GUEM T W LD Gumsl
P &G CHICHTL 96T &Fifla] THEMEGE FLLD?

A) 1/n B) log k

C)-logk D)n

21. Which of the following is Incorrect?

1. Catalyst undergoes permanent chemical change
2. Particle size of solute in true solutions is 10~ m.
3. Starch solution is hydrosol

4. Hydrolysis of liquid ester in presence of mineral
acid is an example of heterogeneous catalysis

reaction
A)1,2and3 B)2 and 3

C)1,2and 4 D)2,3and 4

FLD GG E0TLAIMNI6V 6TS &eUMTEOTSI?

1. llemeTCeuss o BlTbHSTLOMS
CauHallemers@ 2 L LIGQS M
2.2 GOOTEMING  HOIFSHAI eI LITHET

Slserfler ojeme| 103 m

3. 6VLITIE &en&Fev HT HIeuss Fnlplold &L

4. B 6TV 6m T &HeoflLn EY[Ta\[3))
Wereflemevuiey BomHUGSHSWL  ellemeor
LeoUlgssmer  allemerCeuds WLDTMHMSH M &S
THHSIHHTLLTGLD.
A) 1,2 LnMMILD 3 B) 2 LDMMILD 3

Q) 1,2 lnmmILD 4 D) 2,3 lnmMmILh 4

22. The process, which is catalysed by one of the
products called
A) Acid base catalysis
B) Negative catalysis
C) Positive catalysis

D) Autocatalysis
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allemer allemeT QUT@BeTlL eeeoTm ellemerTGouss
WLTOHMIWTES QFWeLIHILD (Wenmuiler Quwy

A) giflev & ellemerGeuss LM
B) 66y elemenrGeuss Lommnil
Q) 26155 allemeoTGeuds MMl
D) St ellemeotGeuss Lnmmndl
23. Which one of the following is an example of
homogeneous catalytic reaction
A) SO,, Oxidised to SO, in Contact process
B) Preparation of NH, in Haber’s process
C) SO,, Oxidised to SO, in lead chamber process
D) NH,, Oxidised to NO, in Ostwald process

GpE&seoTl UMMl & UBLIG &S TeT
aflemerCals IDMTMMESH MG 6T S BHHHTL(H

A QsT®h  wenmuiey SO, SO, 2UsH
SL,GMIRCETMMLD {6056V

B) Gamuf (pemmuiley NH, wimiflssev

0) Qv Gebuy wenmuilev SO, SO, <&
21,86r992C6TMMLD {60556V

D) @peveumeul.  pemmuiley NH, NO, <48

21L,&6r13G6TMHMLD {60556V

24. What is the equation form of Langmuir isotherm
under high pressure.

A) x/m = a/b
B) x/m=a.b
C)x/m=1/a.P
D) x/m =Db/a

5 & (WESHS5H 6V ITHEIG T FLOR6ILILIBlem6V
G&HITL19.60T FLOGOTLIM() WIMSI?

A) x/m = a/b
B) x/m=a.b
C)x/m=1/a.P
D) x/m =Db/a

25. Assertion : Rate of the reaction is increased by
catalysis

Reason : Catalyst changes the value of AG® in to

more negative.
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A) (A)and(R)are correct. Risacorrectexplanation
of A

B) (A) and (R) are correct, R is not a correct
explanation of A

C) (A) is correct but (R) is wrong
D) (A) and (R) both are wrong

(FaMmI) @m eolemeruller ealeneTGalssLD
aflemeTCouss mmiluileormev
aflsuuESSILGH DS

&ITTeoorid : ellemerCGeuds MM AG-60T DG 16mLI
5 & THT G ISTHE QFURMSI.

A)(A) LoD R) @reor@Ww &ifl, (R), (A) er
Fiflwmer elleTs LD

B)(A) mMID (R) @uesor®d &ifl, Sueormev (R),
(A)-60r Frflwimeot alemd&Ln6v6v

Q) (A) &fl Sp6euTITeL (R) Houm

D) (A) LoMMID (R) @ Tevor(HLD SHeum

26. Which one of the following is not applicable to
the phenomenon of adsorption?

A) AH >0 B)AG <O

C)AS<O D)AH <O

LNetTaumeucoraimmiley  6Th& BISGLe LTLILE

SHOUTFH &G QLIMTIBHSTSHI?
A) AH >0 B)AG<O

C)AS<O D)AH<O

27. Which of the following is an example of
absorption?

A) water on silica gel
B) water on calcium chloride
C) Hydrogen on finely divided Nickel

D) Oxygen on metal surface

LD 8 56007 e MNl6L 6TS
T HSIGHTLLTGLD.

o MlEh&FHNEHES

A) Rl Qg6 15a B

B) MeE WL &Cermemnp(h W& BT



C) IF6OT@ SMeTME&LILILL Bl&&He060r g BT
D) 2_Geumd LIFLILN6oT L& 21,8 6rde60T
28. If x is the amount of adsorbate and m is the

amount of adsorbent which of the following
relation is not related to adsorption process.

A) P=f(T) at const (x/m)

B)xm=PxT

C) x/m =1(P) const T

D) x/m = f(T) const P
X eTedT LG LITLIL &8 6T LU G QLTI eresr ojemey
MHMID M eTedTLS UTLILS Seu@hd QU perfledr

|6T6Y 6T60f16V LI 6dTeu (HeusoTel M6V 6THS Q&ML [FL
LUTLULE SHeUTHNGHES QSTLTLDMLWIS 48 TSHI?

A) P = f(T) Lompiled) (x/m)
B)yx/m=PxT

Q) x/m = f(P) Lnmiledl T
D) x/m = f(T) tnmaledl P

29. Number of layers adsorbed in chemical adsorption
is

A) zero B) one

C) Two D) infinite
Gaumulwer UFlYSSTEHWm  UTLLs
SaUTLLGLEUTS 2 (HauTGLD 3|(h\&ES&H6T

A) Lgglwid B) gedT!

) @uetor(h D) wrig6fled

30. Which one of the following is an example of
induced catalysis?

B) 5H,C,0,+2KMnO,+3H,S0, ——
2MnSO +K SO +10CO_+8H,0

C) Na,ASO,+ Na,SO,+ O,— Na,ASO,+Na,SO,

D) ¢, H,0,+HO——CH,O0+CH,O

127722711 6771276 6771276

2G5 aflemer Ceuss MmN & & 6
dBHSHBHEHTL(H

B) 5H,C,0,+2KMnO,+3H,S0,
2MnSO,+K,SO,+10CO,+8H,0

C) Na,ASO,+ Na,SO,+ O, — Na,ASO,+Na SO,

D) C,H,0,+HO0——CH,O0-+CH,O

127722711 6 1276 6771276

BIOLOGY (BOTANY) Q.No. 31 to 45

31. Who proposed “Mutation Theory”

A) T.H. Morgan

B) William Bateson
C) C.B. Bridges

D) Hugo de Vries

'‘FOS LMTHME CHMLUM " QeueflulllLeur
A) TH. LDITJ8 60T
B) eflevedlwiLh GLIL & 6T
C) C.B. LNl g601
D) amlu,@a 1ealifery

32. Sharbati Sonora is a mutant variety of

A) Rice B) Wheat

C) Castor D) Maize

FOH WLMTHMSEHTOL 2 (HeUTHSLILLL FTiUS)
QEFMTGEOTITIIIT 6T6URIEM &G S TEUITLD
A) QB6V B) G&M&I6mL0

C) QLLN6T0TE & D) LD&&MTFGEFTEITLD

33. Match the following

a) Addition of one or more
chromosomes to diploid sets — i. Monosomy

b) Addition of single
chromosome to diploid set — ii. Hypoploidy

c¢) Loss of one or more Chromosomes
from the diploid set — iii. Trisomy

d) Loss of a single chromosome
from the diploid set — iv. Hyperploidy
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a b c d
A) (1) (i1) @)  (iv)
B) (i) (i) (1) (iv)
C) (v) (i) (i) 6))
D) (ii) i) @av) ()

QUM S 5:

a) @GS QFTGH GCITGLMEEF L& 6rflev
RETMI V6V SME GLMLILL
GCITGLTGF TN 6T
AP &G Blemev — i) GLmGermCamLdl

b) @I W GCITGLTGF LD
QEHTGH U e(H GCTMELTGEFTLD
5 &EGD Blemev — ii. GenmLOIQUILD

0. @GLYW 0FTGH W GHS!

RETMI VLG ASDEG GLOUILL
GCITGLTGFTLNG 6T
@LW&H&LILGILD Blemev — iii. IgemTGF Ml

d @GLYW OFTE&S

&CITCLMGFMh&6rfled HHa!

H60fle GCImECMGEF LD

@&SLILGILD Blemney — iv. 10l@G LOIg LD
a b C d

A) 0] (i) (iii) (iv)

B) (i) (i) (i) (iv)

(@) (iv) (iii) (i) (1)

D) (i) (iii) (iv) (i)

34. Pick out the incorrect pair

A) Double tetrasomy —2n+2+2
B) Pentasomy -2n+3
C) Nullisomy —2n+2
D) Double Trisomy —2n+1+1

SHEUMITET @)6m6toTen WS CHTHOSH (M
A) @ULlenl QLLpmCamll —2n + 2 + 2
B) QLIevor LMG&mLAl —2n+3
Q) BELEIIGFMLA —2n+2

D) @ULenL LengCamdl —2n + 1 + 1

35. DNA replication initiated by
A) Topoisomerase
B) DNA polymerase
C) Helicase

D) Primase
Copyright @ THE ALCHEMIST CONSULTANCY

geteorey LNpSQW@OUILY eLpeuLD
QHTLMBISIULL S

A) GLMGUMRGETGT6en
B) DNA LImedLnBren
Q) @ameiCasenv

D) LNemyyGLoehv

36. Given below are statements

Assertion (A) : Chemicals which induce mutation
are called chemical mutagens

Reason (R): Radioactive isotopes, neutron are some
example of chemical mutagens

A) Both Assertion (A) and Reason (R) are correct
B) Both Assertion (A) and Reason (R) are incorrect
C) Assertion (A) is correct but Reason in incorrect

D) Assertion (A) is incorrect but Reason is correct

Famm (A Gaudlll QU@L Sefledr epevd
Sreoor_ UG &GS LDmHmmHIGSeT CauFHlwl &FH1H)
DM & 6T 6TETMI 60)L0 885 L1LI(H) &) 60T M 60T

&ryeoorld (R) SR lWEe: DCFTCLITLILISET,
BIWL LT medT GLImETm et el GeuB i &HIS) Lo M) & 6iT
6T6OTMI 160D 555 L1 LI(H G\ 60T M 6oT.

A) &M (A) LDMMILD &Tyeorid (R) @ evor(Ib &1f]

B) &ammI (A) LOMMID &TFeorid (R) @ Ievor(hild
Seuml

Q) Sammi (A) &1l SL,60TITEL STT60oTLD (R) SHeumi
D) Sammi (A) H6UMI SLE0TITEV STTevorid (R) &Fifl

37. A Select the correct statement

A) Mutation affecting single base of base pair of
DNA are called Insertion mutation

B) Triticale is the successful first man made cereal

C) G.D. Karpechenko a Rassian geneticist tried
allopolyploid in radish and carrot

D) DNA synthesis takes place in 3’ to 5 direction



glwumer samenms CHIHOS0:

A)DNA &ll6b 2 676 @@h ST 3jeVeVE R(H
@emeoT ST  UTHE&ESLUUQL FOHH
LTHMD @eMLQFMmMSH FHGH WLTHMLD
eTeoT L1LI(hILD.

B) Qeumn&INMs LD 6071 55 60T Ws6560
2 HeumsSHW Smeflwid 19119 &HCH L& LD.

Q) GD. &SMIOUOFTCHT  6T60TM Te1 U
LILWemeTy (peTemmi& Wwmmih G
STATSH UILTIOIULISMNS (WWHE
QEFEWSTH

D) DNA LIQQWH&SH 3' to 5 Hlems GBHTHS
BL&@GLD.

38. In the given diagram identify the parts.

3

I K 3
X

3 |

I II M1
A) Leading Lagging Okazaki
strand strand fragment
B) Lagging Okazaki Leading
strand fragment strand
C)  Okazaki Leading Lagging
fragment strand strand
D) Lagging Leading Okazaki
strand strand fragment
Q&ETHSHSHLILILMHETET  LLSH 6T  LITSHMHISem6T
& 600T L1 &.
3
5
I
3° 5

A)  (WeTGeTTEHE LN6TCeTTE: & RGFTH
@ e @ emLp ES )
B) WerGeorms® REFTH (WETCETITE G
Qe Sleoor(h) Qe
Q) REFTH (TGS  LIeTGeT TS G
sleoor(h) Qe @
D) UlerGerrme@ (LPeiTCeoT e G RGFTH
Qe Qe Sleoor(h)

39. Family Fabaceae differs from Solanaceae and
Liliaceae. With respect to the stamens, pick out
the Characteristics specific to family Fabaceae
but not found in Solanaceae or Liliaceae.

A) Monoadelphous and Monothecous anthers
B) Epiphyllous and Monothecous anthers
C) Diadelphous and Dithecous anthers

D) Polyadelphous and Epipetalous anthers

SCUGUT &OWuUS ST TBIG 6T
Q&FTeLTCeTH LMMILD 696veOIGW S
GOWUS - STaughiseledmbs  Ceauml (b
SITe00T L ILI(Q SRS, &HTHSHSH & meiTgs 6rfl 60T
3J1q L1L1emL_udlev QFmeLTGeTH LDMHMILD
eedlCWs GO LUBISe el  SmeoTLILILITS,

L6016V, »CUCLF GBHUSH Smesorl LB
GOILINL L UetorLemet CHTHAS0).

A) @B SHSHMM L&ETHSSSTET WHMID @k
LOL_6V DSBS LIt

B el @Ugul &THSSSTET  LHmID
62(HLOL 6V DS THSLI60ILI

C) QBSHHNM &I HSSSTET LOMHMILD G BLOL6V
O&THSLIEML

D) LIGu&Menm N&THSSSTET WMMID 6060
QLW LD&TBSHSHST6IT

40. Match the column I with column — II

List—1 List—1I

a)%,9,K..C. A .G

oy G, Do Y 1) Brassicaceae

b) B, 9. K, Cs, 7 Ay G, ii) Liliaceae

¢)Br.,®,d, P(3+3>’ A, .G iii) Fabaceae

3437 =(3)

) .9.K,,.C,, A, G, iv) Solanaceae
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a b c d QLLIITIQ60TLO6 6U60 & &ITevor LILI(HWD & (H\DLLD

A) iv i i iii A) GHOOUSCT
B) iu v 11 1 B) DML GauE)
C) i il iii iv
. . . Q) Q&FmeLTGeoTH
D) i 111 v 1
: : D) 69l6u6SI GBI
UGS | &8 UGS II-60T QUITHSS!5:
LUG&S | UGS Il 43. The correct floral formula of chilli is
a) % ? g‘ ? K(S)’ C1+2+(2), A(9)+1’ Ql I) Ij]Ij'ITGTﬁ](E&S@ A) @5 g‘a K(S) C57 A(5)’ Q(z)
K —A i) 696LENICWIE
D&, 9. Ky Co™ Ay G 1 eveveE B) @, 9. K5, Cs Ay Gy
oBr,®, ¢, Py Ay G iii) CUGUG)
C) @, 9. K5 Csp Agsyp Gy
d D, 9K ,C, A, Q(z) iv) Q&FmeLTCeoTH
a b C d
A v i i iii ermrasmulledt (Chilli) &iflwimest VT ESHTLD.
Py A) 8.9, K, Co A, G,
(@) il iil iv
D) i i iv i B)®,9. K, C A, G,
0@, 9, K, Cin A, G
41. Tricarpellary, syncarpous gynoecium is found in )@, 9. K Cop Asr G
flowers of D) @, ¢, K, CSAA(S), Q(z)
A) Fabaceae 44. The correct floral formula of soybean is
B) Poaceae
A) %, g, K(S) C1+(2)+2A(9)+1’ G,
C) Liliaceae

B) %, 9.K.,C,, A, ,G

1+H2)+2° = ~(9)+1° —1

C) %, ¢, K, C G

142+(2)° A(9)+1 > =1

D) Solanaceae

d65GMHILS ST DeVFTSH6T60 eHETm GV
Q) EELEHEET LU @)60600THS 6V UL L LD
Smeoor LILI(G SR mS!

D) %, ¢, K5 €,y A G

1+2+(2)° 7 79+(1)° =1

GamuwimLieoflet (Soybean) FIflWIMenT LDELVT &S TLD
A) &CUGUA .
A) A)’ g’ K(S) C1+(2)+2A(9)+1’ Ql
B) GUTCWH
. B) %’ Qz’ KS’ C1+(2)+2’ A(9)+1’ Ql
C) 6916LEIGWIE
C) %, ¢, K C A, .G

1+2+(2)° © ~(9)+1° —1
D) Q& meumGeor

D) %, ¢, K5, C,r.0 Agury G

1424+(2)? “ro+(1)° =1
42. Tetradynamous conditions occur in the family

45. Consider the following four statements
A) Cruciferae . . o . .
1. In vexillary aestivation, the large posterior petal is

B) Malvacae called — standard, two lateral ones are wings and

two small anterior petals are termed keel
C) Solanaceae . - .
ii. The floral formula for Liliaceae is

D) Liliaceae %, . P. .A._.G
s> Fol3ias

3432 =—(3)
iii. In pea flower the stamens are Monadelphous

Copyright @ THE ALCHEMIST CONSULTANCY
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1v. The floral formula for Solanaceae is

®, K(3>’ C<3>’ A(4)’ Q(Z)
The correct statements are
A)1iand iii B)iandii
C) i1 and 1ii D) iii and iv

ECp QaM&sLIULB6TeT Famo |, I, 1, IV
o L9Gg, SFiflwmer @ ueor(h  &uMmidssmer
allemLemwl CHTHAS M.

. @MBIGSHWe @& wannale) < &FaCHTe:R W
Quifl 916v6d QBMIUIELES eTedTmID, @) F6vor(h
LUSSUTL(H  2evellseT FImaeued  ereormiiD,
55 leBw @reor(h Sl 6060 &6
LIL 86069 6TeTMILD 3J6mLPp& & LILIGILD.

1. 696veS GG UI6IT L6V G & T T

%, ¢, P A, G

3437 =(3)
. Ul Lmeoofll  smeuy  eviflev

D& HSHSHHTET &Tevor L ILIGIRMS!.
IV. Q& meumGer&Slufledt DeVT @SS TID

. K(3)’ C(3)’ A(4)’ Q(Z)

FflWmenT GoMmige6r

ROSHHMM

A) | LMD il B) | LOMILD I

Q) Il o miLd NI D) lll b mILD IV

BIOLOGY (ZOOLOGY) Q.No. 46 to 60 |

46. A young infant may be feeding entirely on
mother’s milk which is white in colour but
the stools which the infant passes out is quite
yellowish. What is this yellow colour due to?

A) Pancreatic juice poured into duodenum
B) Bile pigments passed through bile juice
C) Intestinal juice

D) Undigested milk protein casein

@ @ eTIDGLLHNS (LMMISVILD Gl6)65oTEm LOLLITEOT

STULMM  GUSS UBRMS  ILETTe

GG PHMSH QeueflGwmmild LDGVLOTEOTS

IDEHF6T BIMIOTEH 2 6TeNgl.  @HFH  LDEHTF6T

BIMSESH M & STF600TLD 6T60TE0T?

A) 8560)600T LI B (WeTH MG L6060
HVHSLILIGHUSTEL

B)Uss By ebwrs U6z Bloudser
QeueflGUWMmIaIS T

11

Q) GL6v B
D) Q&Ffl&&LULTS LM LTHLD C&H& 6ot

47. Which one of the following statements is true
regarding digestion and absorption of food in
humans?

A) Fructose and amino acids are absorbed through
intestinal mucosa with the help of carrier ions
like Na*

B) Oxyntic cells in our stomach secrete the
proenzyme pepsinogen

C) Chylomicrons are small lipoprotein particles
that are transported from intestine into blood
capillaries

D) About 60 % of starch is hydrolysed by salivary
amylase in our mouth

eflgisefley 2 eoore] Q&flDmerd  WMMID
2 MlEHha 560 QSIMTL T LIMeT LIl 6dT6l (HLD So M M1 S 6rfl6v
618l Fifluimeotsl?

LDMHMILD 01 GeoTIT
9|6V MBI ET, L6V G5 memLp & 6rfl 60T
eeulnmds  Nat  wedflsefler 2 gafluimey
2 b5 L1LI(H G 60T 6oT.

A) g8 GLmen

B) bL0GI @ emFLienLiuleveTer 95T 60T 5
QEFVHET  QLILIFIGETITRET  6T6dTM  (LDEdT
QBTH MW &HI&EHMS

C) M&BBETEM NG TETSH6T  6TedTLIeme  Filwl

OIICUTLGFITL_1q.60T 51565 61T, 6m6
GLONBHa  QUEs  SHARHEDEHS
&L&S LIRS meor.

D) LD &I aumulevierer o 18pBr
3|60 L0G6V6N &M 60% VL ITEFeNETF
BITOUGSSUILOS DS

48. Which one of the following pairs of the kind of
cells and their secretion is correctly matched?

A) Sebaceous glands - a secretion that evaporates
for cooling

B) Kupffer cells -a  digestive enzyme that

hydrolyses nucleic acids

C) Alpha cells of islets
of Langerhans - secretion that decreases blood
sugar level

D) Oxyntic cells - a secretion with PH between 2.0
and 3.0
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NetTould @ emenorsefled TS 6U60 S WIT6oT
QFLHEBLD WMMID  HeuMmmledr &L &HEBLD
FlWmg QUITIHIHS U|6TerTeoT.
A) 6T600T G\ 600T L
(Q&EGLIe W)
&I — Geflyalliugsm & T oeilwm@LD
QO &ruY
B) &LI&LIT Q&F6L&H6T — Blwl,gerflss
3|6V MHIGEm 6T
BrmHUGEs Q&FWIWLD
[ Q&FFlnmeT QBITSH

C) GLITMRIG T BT

P (H & & erfl 6ot
QLT QFVEHET — QTS FISHEHNT
366N 6UE SN ME G LD
&L
D) &, F 60718

Q&F6L&H6T — PH (9)L8l6V ST 560T60ILN)
2.0 - 3.0 2_6T6T e(H &FTLILY

49. Assertion(A): Emulsification is necessary for the
digestion of fats.

Reason (R): After fats are emulsified, the action
of enzyme amylase gets significantly increased.

A) If both assertion and reason are true and reason
is the correct explanation of assertion

B) If both assertion and reason are true but reason
is not the correct explanation of assertion

C) If assertion is true but reason is false

D) If both assertion and reason are false.

Famml (A):- QamWLliLseflear Q&flinmarsHnE
LIMEVLDLNED L6V S eUFIWILDTE LD

&HITJ600T LD(R):- Q& TLLILY LIMeLLOLOED L[5S
Wme omwCeev QBmHuiler Qaweoim
Heo0l1F10MS AF & flEH M

A Samml A IDMHMID &TJeoorld R @ Fevor(hLD
Fifl. &MJeoTld R, Sammi A-G&meor & iflwlmeot
aflem&: & L0MEGLD

B) MM A WMHMIID &MJeoorld R @ pevor(hld
Fifl QLETMeL &ITIEoTd R, SmMM A-&&T6oT
Frflwmeor edlemg&sLnevey

Q) Gammi A Fifl, &MFevoTID R SHoumi
D) 8o MMI A LDMMILD &ITF600TLO R @ 600t (HLD &H6Uml
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50. Which of the following pair is characterized by
swollen lips, thick pigmented skin of hands and
legs and irritability?

A) Protein — Kwashiorkor
B) Thiamine — Beri-Beri

C) Iodine — Goiter

D) Nicotinamide — Pellagra

Nereu@ld @ emeoordefley efmGw 2 FH{H\&6T,
M&GH6T LDMHMILD &5MeL8 66V 3L T BIMLD G\&meor L
Gxmey WMHmID aflFFer R UIemal 61560
SV GO &6iT?

A) LTsLD - @eumedluimyssy

B) 60 & WL 60T - Qui] - Quifl

C) &JGuIImLg 60T - (LpeoT &G SI5H LTIV
(SITUWILIT)

D) Bl&C&TIqeTemn() - QLIS ST

51. Choose the wrong statement
A) Bile contains no enzymes
B) Goblet cells secrete mucus

C) Lipases and nucleases are not present in
pancreatic juice

D) Brunner’s glands are sub-mucosal glands

SHAUMITET UTHERWGHNE CHTHGHH &6 LD.
A) N5 5Bl QBTH 6T @ 6vemney

B) G&HIMLIeML 6Ulg6l QFLEHET GoHMTemnLpemWIE

& 1755\ 60T M 60T

Q) semeorwd  HBrflev  OlIGLIGVSEET  LDHMILD
BlwseflGuwevgear  GUMETM  QBITH&H6T
©)6LEMm6L

D) Lpedreorifledr &TLILNG:6T GHmempGBLOLILIL 6V
FTLLNS6TTELD

52. Which of the following terms describe human
dentition

A) Thecodont, Diphyodont, Homodont
B) Pleurodont, Diphyodont, Heterodont
C) Pleurodont, Monophyodont, Homodont
D) Thecodont, Diphyodont, Heterodont



LI edTeu(BLD Q& MM & 6rfl6v 6TSI LD 60185 LIGL6VEm LD LIt LI
alaufl&EHma

A) S&CHITLITETL., 6060 LIGWITLTedTL,
CammGLOMLTeoTL_
B) LNeflGpmLmedTL, 60 L6 LIGUITLITeOTL.,

@amL 19 G ITLMeoTL_

O) NeflI@ymLmeorL., GLmGeormemLIGUIMLITedTL,
CammGLOMLITeoTL.

D) $5C&TLTeTL, 60 L6 LIGUITLITeOTL.,

QL 1q @FITLTeoTL
53. Which one of the following is not applicable to
RNA?
A) Heterocyclic nitrogenous bases
B) Chargaftf’s rule
C) Complementary base pairing

D) 5’ phosphoryl and 3’ hydroxyl ends

LN etreu [HeueoTelMMI6L RNAG & QLIMBIHS TS S 6TSI?

A) QamL_GLTCrmenF&erld 6MIHL_ 783607

S ITIJ IS 6T

B) &Mi& MLl &)

Q) BITLIL| 6MBLIFR60T &IT @) 60600T85 6T

D) 5' IJI'I'G?UIJ.I'I'DC]GD WHmID 3" mamL JmesEF ey
(LD 6D 60T G 61T

54. Which one of the following makes use of RNA
template to synthesize DNA?
A) DNA polymerase
B) RNA polymerase

C) Reverse transcriptase

D) DNA dependent RNA polymerase

Nereu@meusoteummley DNA  evel 2. MHUSH)
QFWW 6TB&S RNA aUMFLILH6eUTS(GLLDGETL)
QFWeLLIHHMmaI?

A) DNA LmedSln@reny

B) RNA LmednGreny

Q) fleurenv 19 7 mesren Sf1L1GL 6N

D) DNA &8 RNA LImedlnGren

13

55. Which one of the following pair is wrongly
matched?

A) Transcription - Writing information from DNA
to tRNA.

B) Translation - Using information in mRNA to
make protein.

C) Repressor protein - Protein Binds to operator to
stop enzyme synthesis.

D) Operon - Structural and

promoter.

genes, operator

NetTaueueoraummilel  6THS @ 6M6etT  HaUMITSH
QUITIBHE U 6Teas!?
A). LIQQWH'SH6L - DNAGL QBHS!
tRNAS & & 5616056061
56615560 (6T(HSIS6V)
B). QLOmMLSl QLIWITE 6V - MRNAGD 2_6iTerr
S55H6UM6VLI
LweTUB &S5
LTSNS
2 (HEUTH (G SH6V
Q) LGS LUIsd - @USHIULET  E@)6em6oThIl
QBTE 2 HLSH WS
ShHHH6v
D). @LITTET - QJemL0LIL] DT LIE™IE 6T, @)U
LM MILD 2685 &6 LILITeoT

56. Identify the correct order of organisation of
genetic material from largest to smallest.
A) Genome, chromosome, gene, nucleotide
B) Chromosome, genome, nucleotide, gene
C) Chromosome, gene, genome, nucleotide

D) Genome, chromosome, nucleotide, gene

Quiflwa wsev  Fnlwg  euemullevmeot
IULIQUITIHL &6 6p(pmigGennliNedr & iflwimeor
auflen Fenl 2|60 L WITETLD &5M600T6)]LD.

A) LD LI&TD) QETG&LIL, &CImMELTGF LD,
DL, Blw,seflGuwmen(h

B) &CrmGLmE&mLD, LOTJ LI sT0) QBTG LIL,
Blw,&6flGWmemL(p), L0 LIS

0 &CymEGLmTE&FmLD, O[T LISTD), LOTJ L1650
QsMGLIL, Blw,seflCumemnL(h

D) LD LIsTDI QEMGLIL, &Crm@LmEamLD,

Blw,seflGWwmemnL(h), LOF LIS
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57. During DNA replication, Okazaki fragments
used to elongate

A) the lagging strand towards replication fork
B) the leading strand away from replication fork

C) the lagging strand away from the replication
fork

D) the leading strand towards replication fork.

DNA @ULIQliumgededr GCUME, RSTEFTH

SleooT(H&6T BLAWenL W Q&FUeu

A) @I LILIMTE 60 Lemememeu GBITHE
NeTamE @emwpenul (QSTLFFRWMM

QenLp)

B) @rLaliLmsey Llememelledmiba  ellev&Huw
aPETL () @emLpemnll (QSTLT @) 6emLp)

O @rULigliumgey emeralledmbg  aflev&w

NeTamiE @eawpemul (QSTLFFFHWMmm
Q) 6mLn)
D) @ UL 1 LILIMTE 6V LNemeremnal Jilif:323

QST () @empenll (ASTLT @ e6emLp)

58. A segment of DNA has 120 adenine and 120
cytosine bases the total number of nucleotide
present in the segment is

A) 120 B) 240
C) 60 D) 480

@@ DNA SIeooTLSH 6V 120 IJ1Q6060T60T LOMHMILD

120 eFLCLTHT 6eMBLIRET — &HITHHIS6T
o _aTerngl. 31555160075 F) eyl eiTerT QLTSS
151 W, & 6rf G WImen L_(h) 861607 6T6v0T 60071 8560085

A) 120 B) 240

Q) 60 D) 480

59. Assertion(A): In Eukaryotes, both intron and
exon are transcribed to form hnRNA

Reason(R) : Splicing is required in Prokaryotes

A) If both assertion and reason are true and reason
is the correct explanation of assertion

B) If both assertion and reason are true but reason
is not the correct explanation of assertion

C) If assertion is true but reason is false
D) If both assertion and reason are false.
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FaMHMI(A): w,esFICWmL_(h&serlev,
@e6oTLmedT  LOMMILD  er&evmerr @ pevor(hld
LUQQUO &S &G L LD hnRNAem 6
2 (HAUMHGHMSI

smyeoord(R): LErmGasflGwmL(haserflev Llemg g6
Bl&pe GaemalliLIhSMmSI.

A &Mmm A LOMMID &Tgeoortd R @ Fevor(hLD
Fifl MHMID HTIeoTd R MMl A-8&Meor
Fiflwmeor edleTg LD

B) amm A LOMMID &MPeoortd R @ @evor(hld
Fifl HMID &TIeOrd R Famm A-&&Teor
Fiflwimeor edlemg&Ln6v6V

Q) Gammi A &Fifl, &TFevoTID R SH6U Ml
D) Fnmm A LDMMILD &TFevorld R @revor(hGLo
SHeumi

60. Match the following and choose the correct
combination from the given options.

a) Splicing - (i). Lac operon

b) Okazaki fragments - (i1). Lagging strands

c¢) Jacob and Monad - (iii). Lactose

d) Inducer - (iv). Removal of intron

A)a-iv,b=1i,¢c—1,d—iii
B)a—ii,b—1 c—iv,d—iii
C)a—iv,b—iii,c—1,d—1ii
D)ya—ii,b—1ii,c—1,d—1v

LN etTeu HereTaumemmLI QUTHSD),

Q&MH&HSLILIL L N mLIUmBsefled mHa
Fflumsraimenm CHITHOSH &S LD.

a) Yergsev - (i). G6LE G LI 60T

b) RCHEFMTEH SlevoT(HG6ET - (ii). LN6ITSHMIGLD G 6mLp
c) GCsML InMmmid Gumerm@® - (ii). Geu&HELTeN
d) smevoriq - (iv). @ 60T medT H&h &L
A)a-iv, b—ii, c—i,d —ii

B)a—ii,b-1 c—iv, d-iii

C)a—iv, b—iii,c—i, d—ii

D)a—ii, b—iii,c—i,d-iv



